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LoopExmaple1.java

01 public class LoopExamplel {
02 public static void main(String[] args) {

03 int i = 0;

04 while (i < 10) {

05 System.out.print(i+" ");
06 s

07 }

08 }

09 }
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LoopExample2.java FRTY WhHR HOtM Bi& nof MABETH
oM R& HoOf AL OTh, i 2770l
01 // while & 0|88 ¥+ &5 ==Y 00| ot 10 ol Qostet, F3wL 18T
02 dimport java.util.x; FoHoF 37 2ol 00 ofH L 12 27(3%
03 3toiTH, 23D HtE DT 9HTH AHU %4E
TNEA HEEStE S SOt
04 public class LoopExample2 {

05 public static void main(String[] args) {

06 int n;

07 int i = 1;

08 System.out.print("F7C SN ==5t0 42 T2 YUSHSIAL2: ") ;
09 Scanner scan = new Scanner (System.in);

10 n = scan.nextInt();

11 (while (i <= 9) { |

12 System.out.println(n + "*"+ i + "=" + n % 1i);

13 T+t

14 k} J

15 }

16 }
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CalSum.java

01 public class CalSum {
02 public static void main(String[] args) {

03

04

v
i= 18T NAST

08
09

sume 022 Z7(3k=0{OF Bttt
int 1 = 1;
int sum = 0;

b

(while (1 <= 10) { )

10
11

12 }
13 }

sum = sum + i; [€—————0u
) 7t 100(8t015L el %
LA’ sumoi| ittt

}

- J

System.out.println("gAH=" + sum);
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‘DoWhilel *java

01 public class DoWhilel {

02 public static void main(String[] args){
03 int 1 = 10;

04 do {

05 System.out.println("ig] Zt: " + 1);
06 1443

07 } while (i <3);

08 }

09 }

19 Zt: 10
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Checkinput.java

01 1dimport java.util.Scanner;

02

03 public class CheckInput {

04 public static void main(String args[]) {

05 Scanner input = new Scanner (System.in);

06 int month;

07 do {

08 System.out.print("SHE S UHSIA|R [1-12]: ");
09 month = dinput.nextInt();

10 } while (month < 1 || month > 12);

11 }

12 System.out.println("AR2XPt 225t 2 " + month);
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ForExample1
01 public class ForExamplel { tor 2 OtoM MO HAR
02 public static void main(String[] args) { Kotsg & oftt,
03 (for (int i = 0; i <5; i++) { )
04 System.out.println("ig Zk=2: " + 1);
05 }
\_ J
06 }
07 }

19l w2 0
19 w2 1
19 w2 2
19l w2 3
19l w2 4
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Sum.java

01 public class Sum {
02 public static void main(String[] args) {

03 int sum = 0; for B oke| 271Aot

o4 Mol H&Z Motgt & ofTt,
05 for (int i = 1; <= 10; i++)

06 [ sum += 1;

07

08 System.out.printf("18£E 107iX|2] H42o| € = %d", sum);

09

10 }

11 }
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NestedLoop.java

01 +dimport java.util.x;

02

03 public class NestedLoop {

04
05

06
07
08
09
10
11
12
13
14 }

(for (int y = 0; y <5; y++) {
for (int x = 0; X <10; Xx++)
System.out.print("*");

System.out.println("");

public static void main(String[] args) {
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01 €dmport java.util.x;

02

03 public class Averager {

04 public static void main(String[] args) {
05 int total = 0;

06 int count = 0;

07 Scanner scan = new Scanner (System.in);
08 while (true) {

09 System.out.print("H4E YHSIAI2: M) ;
10 int grade =scan.nextInt();

11 if (grade < 0)

12 break;

13

14 total += grade;

15 count++;

16 }

17 System.out.println("E#2 " + total / count);
18 }

19 }
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ContinueTest.java

01 public class ContinueTest {

02
03
04
05
06

07
08
09
10
11
12
13
14
15
16
17 }

public static void main(String[] args) {

String s = "no news is good news";

int n = 0;

for (int i = 0; i < s.length(); i++) {

// n O] LIR= =5 JiCt.
if(s.charAt(i) != 'n'")

continue;

// n¥ HM+E St S7teiCt.

n++;

}
System.out.println("2%0N U=

= n2

Ha= "+ n);
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Guess the same number that the

The number will range from fh 100

s FE5H0 BEAR:
HAlet F7t ZELCH
S F5510 BEAR:
HAlet F7b ZFELICH
FHS FHOIH BAR:
AR "7t =5LCH
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60
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£a3 NumberGame.java

01 +dmport java.util.Scanner;
02

03 public class NumberGame {
04 public static void main(String args[]) {

= int answer =59; /1 8E it 22 NE3t0{ guessTt answer 2T A2 7
06 int guess; 2R WSOl HTHEE DN ® E3BIT
07 Scanner sc=new Scanner(System.in);  d0...whie SZ2| DFABE 27 Tkt S0

guessTt answer®t £ B TAAISETE, BEof

o Lot R guessTt answer@t o 0f HEE-Z FTSIT
09 /] U= 7=

10 (do {

11 System.out.print("HEE FI5I0 BEAIR: ");

12 guess = sc.nextInt();

13 tries++;

14

15 if (guess >answer) // AREXP| sist M7 MEYELC O™
16 System.out.println("HA|St H7F s=5LICEH.");

17 if (guess <answer) // AEXP| sist M7 MEHEL Wo™
18 System.out.println("&HA|gt Bt E&ELICH. ")

19 } while (guess !=answer);

20 ) ’
21 System.out.println("SsFELICt. Al=3l=" + tries);

22 }

23 }






